o(0 @) (rad)

=
<

a(d cot(d))

100

3

o N =} [
s - 4 T
@ I @
it H*H“ ++**f +*++ +** ***H +++++ i i W}Hﬁ' i W}*H*ﬂ# *+H++++HH”'H- “
N R S R S
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global_ CMSSW_ckfnocut3 RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
= 10™ g e
4 S
= 5
107t

1072

}

¥

H+

+}ﬂ +++++++‘|*+Hf+++++ﬁ+ }HM} h”

E’ | + + + H E’ |
1 + i++ +...+ .............. .
1 +H +++++ + +HH+++ 1
= N | R W S 0923
TP n (PCA to beamline)
g

7
TP n (PCA to beamline)

T 3

—1 0 1 2

TP n (PCA to beamline)



	Contents
	Page 1


